Total number of printed pages - 12

District Level Infernal Examination Committee, Dhubri
Half-Yearly Examination, 2025
Class - IX
Sub - Social Science

Time : 3 Hours Full Marks : 90

2.

The figure in the margin indicate full marks for the question
Section A (F- i)

Choose the correct answer of the following questions.

(From Q.No. 1 to Q.No.45) 1x45=45

ooTe i SRR T Tesis! A Biened 3

(Y AL S T 5N o R 8¢ (D)

Match part 'A' with part 'B' *

'A' XY TS B =i et ¢

1. Francis Drake A. Discovered sea route to India
TIFER (GF SIS SR T SIS
i1, Catherine B. A Portuguese princess
AR QIR ~iFTe ATl
iii. Hamilton C. First to circumnavigate the globe
T TEPIATE <R Wl 1 A4 ik
iv. Vasco-da-Gama D. A British doctor
O Gl-Sil e oz HfFeTe

The correct optionis - (9% 36 2F)

@) @()-(A) @(-B) Gii)<C)  )-D)
®)@-B)  G)-(C) ()0  (v)-A)
© @-(C)  @()-B)  (i)-D)  (IV)-(A)

@ @-C) ()-®) (i)  Gv)-0)

Who was the first Viceroy of India?

TRACIES AT SRpI (i SIfeeT 2

(a) Lord Mountbatten. (7S SIGGELGA)

(b) Lord Canning. (TG FR)

Contd....




(73]

4

(¢) Lord Dalhousie. (7% (TFRICR)
(d) Lord Ripon. (5 R9i¥)
Arrange the following incidents in chronological order :
TR BN AR T PR A 8
() Battle of Plassy — Treaty of Allahabad — Pitt's India Act
Sepoy Mutiny
5] & — IR b — oS i wie — i) Rmiz
(b) SepoyMutiny — Battle of Plassy — Treaty of Allahabad —
Pitt's India Act
oI Rz — | Ja — AR 56 — i o sz
(c) Treaty of Allahabad —Sepoy Mutiny —Pitt's India Act —
Battle of Plassy
GERRT B — 7Rl Rrarr —Pit oke Sz — =i1ib) 3%
(d) Battle of Plassy — Sepoy Mutiny —Pitt's India Act —
Treaty of Allahabad '
=11 Fa — Bl R — it o wie — 9aram pfe
The name of the weekly journal where Urdu poet Muhammad
Ikbal's "Sare Jahan Se Accha" poem was published —
T SR T TR TR TR IR SRSIU! 2o e
SN %R A1 T —
(2) Anandamath. (S=+7=15)
(b) Ittehad. (Zregm)
(c) Mirat-Ul-Akhbar. (f=i5-%=-512319)
(d) Amrit Bazar Patrika. (S1g® I1&i14 #{f&a)
Consider the following statements : (T7/Q Sf\&a[ K619 34T)
Statement 1 : The Moamoriya Rebellion was the longest rebellion
_ in the history of Assam.
O | - (IR Rz ShiR BRoRrR Wi Re s T g
AEHS Rz
Statement 2 : The Moamoriya Rebellion was continued for near
about 75 years.
T 2 : T Roarg 2im 75 7e7 R cafs G |
[2]

The correct option from the above statement is -
GO BT (A wa [Rasi(o] 29 —
(a) Both the statements are correct. (775! &f& %)
(b) Both the statements are incorrect. (F7a51 f& =ie7)
(c) Statement 1 is correct, statements 2 is incorrect

e | vg, S 20em
(d) Statement 1 is incorrect, statements 2 is correct

Tf% 1 wivg, Ofe 2 w5
The Allahabad Treaty was signed - (9#11ZI% § & === (2f%a)
(a) Between Shah Alom and Robert Clive

XJIZ SIS i TG IS Aero
(b) Between Shah Alom and Jahangir

IR ST SIF QRIS e

' (c) Between Robert Clive and Jahangir

RACEIESE RS RCISARIES))
(d) Between Lord Dalhousi and Jahangir
G (TARIGTR Ol ST Ters
Railway network between Sadiya and Dibrugarh in Assam were
started in the year -
TS *{fEe At fCrote (@@ @ISt SiE (2fes —
(@) 1953 (b) 1853  (c) 1880  (d) 1883
The first Indian Newspaper is - (S<e< 2243 Ao RaFod (2(2)
(a) Sanjeevani (FGR1)
(b) Amrit Bazar Patrika (SI% &1 #ifa<t)
(c) Banga Darshan (351 %)
(d) Bengal Gazette (5% (51(%5)
Who was Gagini ? (3lifafd 1 2)
(a) Son of Ashtabhuj. (S@geEaal)
(b) Son of Chaturbhuj Dev. (Fg9& (R F'1)
(c) Son of Ramakanta. (ST «1'q})
(d) Son of Keshabadev. (@1 (79 57'9)

[3] Contd....



10. Whatis the present name of "Bengmara"?
RERR TEHA T & e
(a) Tinisukia (FREIR)  (b) Dhubri (’ﬁ@)
(¢) Goalpara (CWFAR)  (d) Tezpur (CSE5)

11. %&ﬁlg;??&;l;@%ﬁ;i thereignof \VQS%M%)%?@?
(a) Shiva Singha (RIF®2)  (b) Gaurinath Singha (¢TSI ﬁ:{{)
(©) Rudra Singha (S&f1®) (d) Lakhmi Singha (71 Figz)

12. Match the following : (S5iSG@R fSeaiat)

1. Brahma Samaj A. Swami Vivekananda

e F Rt

ii. Ary:d Samaj B. Keshab Ch. Sen
RS (R Y

i1i. Prarthana Samaj C. RajaRam Mohan Ray

A< TS T AR

iv. Ramkrishna Mission D. Swami Dayananda Saraswati
T fir ERINRICUR SRSl

The correct option is - (¥& RFa®IZE)

@@-C  (-D  (ii)}-B  (v)-A

() (?)- C (ii))-D (>iii)- A @iv)-B

©G-B  ()-C  (ii)-D  (iv)-A

@@-C  (i)-B  (iii)-D (iv)-A

13. Who > was the first President of Indian National Congress ?

TS TSI TR 2T AeIAfS (i wifesT 2 '
(a) Mahatma Gandhi. (321 SIFRY)
(b) Dadabhai Naoroji. (7eig GTae)
(c) Womesh Chandra Banerjee. (St b Iwi=Hi4513)

(d) Allen Octavian Hume. (4= S1c3ifie f2ow)

14. Fill in the blanks : (45Tt 512 7j7e 1) ¢
In India, the first press was established in the year at
SO AXM A tTS ool oafem|

[4]

Contd....

(1) 1897, Culcutta, (3¥54 TG, B
(b) 1797, Guwahati. (5454 5T, wf619)
(c) 1897, Siligurui. (Sva4 w1, A i)
(d) 1797, Srirampur. (5454 57T, ARE7TT)
15. Who introduced the "Sudhi" Movement?
“fey AR (I 2B fafea 7
(a) Swami Dayananda Saraswati. (FIT FARTT A7)
(b) Swami Vivekananda. (@ Regwem)
(c) Raja Rammohan Ray. (e AN )
(d) Mahadev Govind Ranade. (SRICT] I QAITS)

~16. Who was known as "Bor Raja" ? (“art” 3 I Gl (T 2)

(a) Phuleswari (FER)
(b) Pratap Singha (&9 i)
(c) Surampha Bhagaraja. (Rl \CRISN))
(d) Queen Ambika. (T =)
17. Horseshoe lake - (Sr4a 2%) —
(a) Is in the action of wind. (TorF TS 2A)
(b) Is in the action of glacier. (BRI IRe =)
(c) Is in the action of sea wave. (SRS RIS )
(d)Is in the action of river. (TR I )
18. Which ofthe following is an Endogenic factor of the change of
carth surface 7 (S (U] G-of8 ARG b eI 1T -)

(a) Wind (I912) (b) Volcano (ST2@HR)
(c) River (@) (d) Rain (333%)

19. The word 'Inserberg! is derived form - (TS X0l (TR)
(a) French word. (F151%1%)  (b) Arabic word. (SR *10)
(c) Greek word. (T =) (d) German word. (fi *1%)
20. Consider the statements which is/are correct.
o (A PR & 7 ?
1 : 71% of the earths surface is covered by water.

ARIAR 71% #ITI A =l

[5] Contd....



25.

2: The total length of the coastline of the world is about 0.5
millionkm.

IR o Tt e & 0.5 Rys RS

(@) 1is correct, 2 is incorrect, (1 W&, 2 WWE)

(®) 1 is incorrect, 2 is correct. (1 WG, 2 Bg)

(¢) Both 1 and 2 are correct. (1 Wi 2 T wa)

(d) Both 1 and 2 are incorrect. (1 6 2 TR B1ug)

- Which of the following is a deposition feature of glacier ?

TR (N0 R s W e
() Delta (I]s1)

(b) Flood plain (2iwef)

(¢)'U' shaped valley ('U' =g fex Toier)
(d) Beach ([ifF=en)

- Where is the ozone layer located ? (S1'& (T F S SRFS ?)

(@) Troposphere. (&' FFaR)

(b) Stratosphere. (25 FFR)
(¢) Mesosphere. (=frIR)

(d)Thermosphere. (A FrR)

23. The most important reason for air movement is -

Y TR T SR T —

(2) Humidity difference. (Sndei wigwesy)
(b) Pressure difference. (519 wiqwsy)

(¢) Gravitational force. (ST i)
(d) Centrifugal force. (S =ifs)

- A person from Guwahati is permanently settled at Dhubri. This

type of mlgratlon is called - (&A1Z6 R Yo+ Ffe@ ﬁ?ﬁ_ BRI
TR SR 0 | IR e 7 -)

(a) Inter-state migration (ST 2ger)

(b) Inter-state migration (IS TSI 2T )

(c) External migration (J1f25< 2iq&)

(d) Inter-national migration (SIZRIG A &)

Statement 1 : Ariver channel means the elongated path through

which the river flows from source to mouth.

[6]

26.

28.

29.

30.

Sf@ | : Gea 4l itz @ e st i o(f #0,
@12 AU 114 9fe79 @l |

Statement 2: The length and width of the channel, however

very from river to river.

U 2 : 7114 alfriaa a2 initem Areifreis @@ e 2|

(a) Only statement 1 is correct. (5471 Of e «%)

(b) Only statement 2 is correct. (447 & ©7)

(¢) Both are correct. (FCAIGIE «%)

(d) Both are incorrect. (FCAGIZ®1%%)

Whatis theamount of oxygen in theatmosphere in terms of volume?

ALNETS SIS {Zp1eA SIfEEeT i 2 2

(2)20.94%  (b)29.01%  (c)3247%  (d)78.08%

. Assam shares its boundaries with two foreign countries. These are-

. TS S g RO 9089 F1or il @R | GRR AR 2 —

(a) China and Nepal. (51 i (1711e)

(b) Nepal and Tibet. ( G=i1eT @I fsqo)

(c) Nepal and Bangladesh. (17i[eT SII<s IEITH4T)

(d) Bhutan and Bangladesh. (901 i< JIgE1C7#1)

The Punjab-Haryana plains created by 3 (three) rivers. These are -
eI s o6 7l sifde | GRaTNER Ta —
(a) Ganga, Jamuna, Indus. (%1%}, 751, 5r)

(b) Ganga, Jamuna, Brahamaputra. (5/5!, T, =17/Q)

(c) Sutlej, Beas, Ravi. (*rew, [, 9if)

(d) None of the above. (\37179 b1 =)

Kaziranga National Park situated in - (FIf&<6! G 1T Ty SRS -)
(a) Dibrugarh and Tinisukia. (&1 @iis fofig< )

(b) Golaghat, Nagaon and Sonitpur. ( C5iIETIKIG, 7511 =1 C<ilfTe7®)
(c) Only Nagaon. (S/s<] 79/1\a3)

(d) Only Golaghat. (ST (5lITIIG)

Which city is known as the "Gateway of North-East" 2

(I HEIF GeI-sfd %6 2Rl I (PRI T ?

(a) Gangtok ((5IG<F) (b) Shillong (f¥&1R)

[7] Contd....
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33.

3

5.

- Suppose, you are in train and reached Itanagar. Then in which state

. Find the incorrect one - (Sr¢ %05 RN M)

(¢) Itanagar  (FA9IR) (d) Guwahati (FRIRIoY)

Assertion (A): The sun rays fall vertically in the equatorial regjon
almost throught the year. :
TR - RS Fepin T RS (3R RN IR e THeI oitw |
Reason (R) : The air of the region remains relatively warmand
themfore its airis light with low den51ty

Tmﬁ?‘ll

(@) Aistrue Ris false (S0 95 {T\_CT:‘T ST )

(b) A s false, R is true (o) srem IFG0! wm)

(c) Both A and R are true, R is the correct explanation of A.
(Sfe wie (@ Tor vy, G0 STeGR w7 i)

(d) Both A and R are false. (¥f& i 3 Tow wrug)

you are now?

&, G (001 93TS TS e +1igw | @few o mavﬂ
TS W ?

(2) Arunachal Pradesh (SiSe{1be1 907#l)  (b)Sikkim (ﬁfﬁﬂ)
(c) Bihar (R=R) (d) West Bengal (iff551=2a1)
Where is the Jonbeel fair held ? ((&Ra (FEﬂ@’@W%Q?) ¢y
(a) Kamrup (S5 (b) Morigaon (IfRefre)
() Goalpara ((aIRIsT=i1) (d) Nagaon (F5fte)

(2) Assam — Assam Gana Parisad. (777 — 73] 9/7l "fﬁm@
(b) Punjab — Akali Dal. (sigiq — SRR W)
(c) Maharashtra — Shiv Sena, (rRRAg — RREED)
(d) Tamilnadu — Telegu Desham Party

(TFFRIE — Co@e (s #if
Which of the followmg country has a one party system ?
TR (T S G Tl iR g
(a) India (S®) (b) USA (Sircsifst)
(c) China (517) (d) England (7e7e)

(8]

37. Who formed India Association ?

39. Who is the author of the book

36. Match the following - (S#RaH frcziiat)

i. Indian National Congress A. 1906
OIS T SIS FET
ii. Hindu Mahasabha B. 1885
& STt
iii. Communist Party of India C. 1916
SIRORI AN 7
iv. Muslim League D. 1924
SRET IS aTie
@M-(4) (MH-® ((i)-O) (iv)-(C)
GO-® (M- (G(i)-O)  (v)-(A)
©@®O-B) (- @i)-(a) (iv)-(D)
@O-® (-(A) (G({i)-D) (iv)-(C)

(& R @I 19 sRfE 2

(2) Woomesh Chandra Banerjee (St b (3=I157)
(b) Mahatma Gandhi  (SIR1If 1Y)

(c) Jawaharlal Nehru (SRRl (72=)
(d) Surendra Nath Banerjee (Ttem 112l (Faient)

38. Full form of UPA is - (UPA - 357~ %l Ie51 2)

(2) United Progressive Allience

(b) Union Progressive Allience

() United Progressive Association

(d) Union Progressive Association

"Principles of Economics" 2
"Principles of Economics" feieima s (pimy 2

(2) Adam Smith (9ei ) (b) Alfred Marshall (TS isteT)
(9)Amarty Sen (59 GF)  (d) Jawaharlal Nehru (=== cqg)

40. What is currency of Russia ? (e me A o)

(a) Dollar (T=717) (b) Yuan ()
(¢) Pound (siiTw) (d) Ruble (s5t==7)
[9]
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41.

42.

43.

45.

46.

. Which among the following is an example of non economic welfare

"Oikos" means - ("Oikos" =¥ W 2'&) —

(a) Family (siR11=1) (b) Rule (1)

(¢) King (1) (d) Income (T11)

Which of the following is an example of' economic goods ?
TR (IO S I T ¢

() Sun rays (5T IF) (b) Wind (J91?)

(¢) Rain water (JFgOS i) (d) Electricity (Regt)

Fill in the blanks : (I 312 77 F) —

_____istheNational Income divided by the total population

of a country.

@R (PR P R TS ORI ST sl SR 7 coliat
R RO C Q|

(a) Per capitaincome. (TR =)

(b) Gross Domestic Income. (o T EI1)

(c) Gross National Income. (SJ3 A i)

(d) None of the above. (‘€3 b€ 72)

activity ? (511 (! S-S (e Fia Trigge 2)

(2) Marriage of poor girls (F3a (gRETR )

(b) Exchanging products (Fisi& RfFsra 34)

() Working is a factory (FIF[1® S F41)

(d) Land sale ({6 T&)

Where did Amartya Sen born ? (T51%] G & 7 (2[%e ?)
(2) Manikganj (fe9ig) (b) Kolkata (Ffermet)
(c) Siliguri (FfFedT) (d) Tufanganj (gFF5I%)

Section B (‘4™ =Ii4ll)

Write about three differences between the civil services of British |
occupied India and Independent India. 3
ffbg ST SRS SF FH SR TANRE @@l 700
oGt i<l fn

[10]

47.

48.

49.

50.

51

52.

53.

. What is "Monsoon wind"? How it is formed ?

Mention three reforms that was taken by Lord Canning during his
second tenure ? 3
TG (s TSI FIrETS 2z T4l fofibt Acam Trad @1
Write a short note on Swami Vivekananda. 3
N Rapiemra [Kaca oo ferdt )

"It was started by Mangal Pandey” - what do you meant by "jt" ?
Discuss its reasons. 1+4=5
A e TR SIREl SRftE” — ‘@R g & rak sy
TR RO feat |

Or (%)
Discuss the contribution of Raja Ram Mohan Ray in the growth of
Indian Nationalism.
SRS SIS Tl 4iff (OIS AT INCAIZA A ST
e st fa |

What do you meant by exoganic factors? Mention some exogenic
factors.

RIS PIF N 12 (G2 I e 711 1 |

1+2=3

2+2=4
G Torg /e 2 3 e R =2

Why does the amount of rainfall not uniform in all places of Assam ? 3
SRR STRCa S1RCS e STl siftie T ez 2
Give abrief description of the Brahmaputra Plain region. 5

el STl R SYTe ST 31 | i

54.
55.

Or (F1Z)
Write down the main differences between The North Indian river
and The South Indian river.

TG OIS 1 W M SIS Wit Y& ALE )
What is Alliance government ? (5 53514 % )
Mention two characteristics of political party ?

oS werd 15! (A% Srmal s |

o Mo

(1]
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56. What are the basic concepts of the definition of economics given
by Robbins ?
RoR SRR FRITGR GRS GRAIER & /e
57. Drawasketch map of Assam and locate the following places. 2+2=4
SETRR @3 G S i O 32TE 326 |
(i) Guwahati (J2I61) (i) A national park (45! AGT TwyHeT)
"Change is the religious policy of the Ahoms was one of the main
cause of Moamoriya Rebellion" - Discuss. >

“ENEERPET G3 17 1109 “iffTe i [Reazs swyow
F” — B F4 |

3

58.

Or (71241)
Under what circumstances did catain Welsh come to Assam ?
Why did he leave his expedition incomplete and go back ?

(e eRER &« ow spite sk 2 cof g sngesat
RIS S SR g o9e 2



